
M
u

lt
i-

vo
lt

ag
e

M
ic

ro
E

Q
-5

00
PH

OT
OE

LE
CT

RI
C 

SE
NS

OR
S

A
m

p
lif

ie
r 

B
u

ilt
-i

n
C

Y
R

T-
61

0
M

S
-A

J
P

M
Se

ns
or 

Mo
un

tin
g S

tan
d

P
M

2
N

X
5

V
F

P
X

-2

332

MS-AJSERIES
Universal Sensor Mounting Stand

Simple mounting and
easy adjustment with
versatile mounting
stand

Flexible height adjustment Mountable on vertical or horizontal plane Flexible angle adjustment

150 mm 5.906 in
approx.

Note: The elevation angle is �20� for MS-AJ�-F
(assembly for fiber).

Swivel: 360� revolution

Elevation angle �45�

Mountable on
aluminum frame

Mounting on
vertical plane

Conveyor line

Securely fixed 
with two M6 
screws

Mounting on 
horizontal plane

Conveyor line

Cable can be neatly threaded into pipe Eight models

Cable guide

Pipe

MS-AJ�
(Basic assembly)

It is used to mount
CX-40 0, CX-20,
CX-30, EQ-20, EX-40
and EZ-10 series
sensors, and the
RF-210 reflector.

MS-AJ�-A
(Lateral arm assembly)

A lateral arm is added
to the MS-AJ� basic
assembly. Sensing is
possible from above
an assembly line.

MS-AJ�-M
(Assembly for reflector)

The MS-AJ� basic
assembly is modi-
f ied to mount a
reflector. It can be
used for RF-220
and RF-230 reflec-
tor.

MS-AJ�-F
(Assembly for fiber)

The sensor mounting bracket
of MS-AJ�-A is replaced with
a fiber mounting bracket. It
can be used with FD-L51,
FD-L52, FD-L53, FD-L54 and
M3, M4 or M6 threaded head
fiber.

Note: Do not thread the fiber cable into the
pipe in case of MS-AJ�-F (assembly
for fiber).

MS-AJ1 MS-AJ2 MS-AJ1-A MS-AJ2-A MS-AJ1-M MS-AJ2-M MS-AJ1-F MS-AJ2-F



Horizontal
mounting type

Vertical
mounting type

Horizontal
mounting type

Vertical 
mounting type

Horizontal
mounting type

Vertical 
mounting type

Horizontal
mounting type

Vertical 
mounting type

1

2

3

4

5

6

7

8

9

0

A

B

C

D

E

F

G

H

I

J

K

Base
Arm (Pipe)
Attachment
Sensor mounting bracket
Cable guide
Arm joint
M4 (length 12 mm 0.472 in) hexagon-socket-head bolt
(Drilube applied product)
M4 (length 15 mm 0.591in) hexagon-socket-head bolt
(Drilube applied product)
M4 (length 22 mm 0.866 in) hexagon-socket-head bolt
(Drilube applied product)
M4 nut
M4 spring washer
M4 plain washer
M3 (length 14 mm 0.551 in) screw with washers
for CX-400, CX-20, CX-30 and EZ-10 series
M3 (length 18 mm 0.709 in) screw with washers for EQ-20 series
Auxiliary mounting plate for EQ-20 series
M3 (length 16 mm 0.630 in) screw with washers for EX-40 series
Auxiliary mounting plate for EX-40 series
Reflector mounting bracket
M3 (length 8 mm 0.315 in) screw with washers for RF-220
M4 (length 8 mm 0.315 in) screw with washers for RF-230
Fiber mounting bracket

1 1 1 1
1 2 1 2
1 1 1 1
1 1
1 2 2

1 1

1 3 1 3

1 1 1 1

1 1 1 1

3 5 3 5
1 1 1 1
1 1 1 1

2 2

2 2
1 1
2 2
1 1

1
2
2

1

1 1
1

1 1 1
1

1
1

1 1 1 2

1 1

1 1 1

2 2 2 2 1 1
1 1 1
1 1 1

2

2
1
2
1

1 1
2 2
2 2

1 1

MS-AJ

333

STRUCTURE

MS-AJ�, MS-AJ�-M MS-AJ�-A, MS-AJ�-F
0

7

1

2

3 4

9
AB

C

D

E

H

I

J

0

5

8

0

F

G

1

MS-AJ�-M (assembly for 
reflector) includes parts 

enclosed by the 
dotted line in place 
of 4 sensor moun-
ting bracket.

(e.g.) RF-230

(e.g.) CX-400 series

(MS-AJ1B)

(MS-AJ2B)

7

1

1

2

6

7
A

D

E

5

7

0

0

8

0

F

G

5

0

3

9

B

C

4

0
K (e.g.) FD-L52

(e.g.) CX-400 series

MS-AJ�-F (assembly for fiber) includes parts enclosed 
by the dotted line in place of 4 sensor mounting bracket.

(MS-AJ1B)

(MS-AJ2B)

M
u

lt
i-

vo
lt

ag
e

M
ic

ro
E

Q
-5

00
PH

OT
OE

LE
CT

RI
C 

SE
NS

OR
S

A
m

p
lif

ie
r 

B
u

ilt
-i

n
C

Y
R

T-
61

0
M

S
-A

J
P

M
Se

ns
or 

Mo
un

tin
g S

tan
d

P
M

2
N

X
5

V
F

P
X

-2

Assembly sets Components
MS-AJ�
Basic 
assembly

MS-AJ�-A
Lateral arm
assembly

MS-AJ�-M
Assembly 
for reflector

MS-AJ�-F
Assembly 
for fiber

MS-AJS
Sensor 
mounting unit

MS-AJR
Reflector 
mounting unit

MS-AJD
Fiber
mounting unit

MS-FD-1
Fiber mounting
bracket

MS-AJL
Arm joint
unit

MS-AJ1B
(Base unit)
(Note 2)

MS-AJ2B
(Base unit)
(Note 2)

MS-AJG
(Cable guide)

MS-AJP
[Arm (Pipe)]

Type

Model No.
Designation

Notes: 1) The numbers shown in the table above indicate the quantities of the respective parts.
Notes: 2) One MS-AJ1B, horizontal mounting type, and one MS-AJ2B, vertical mounting type, are included in each assembly set.

( ( ( ( ( ( ( ( () ) ) ) ) ) ) ) )

ORDER GUIDE

Type Appearance Model No.
Applicable sensor,
reflector and fiber

Basic
assembly

Lateral arm
assembly

Assembly
for reflector

Assembly
for fiber

MS-AJ1

MS-AJ2

MS-AJ1-A

MS-AJ2-A

MS-AJ1-M

MS-AJ2-M

CX-400 series
CX-20 series
CX-30 series
EQ-20 series
EX-40 series
EZ-10 series
RF-210 (Reflector)

RF-220 (Reflector)
RF-230 (Reflector)

FD-L51 (Fiber)
FD-L52 (Fiber)
FD-L53 (Fiber)
FD-L54 (Fiber)
M3, M4 and M6
threaded head
fibers

Individual components are also available as follows

Designation Appearance Model No.

Sensor mounting
unit

Reflector mounting
unit

Reflector mounting
bracket

Fiber mounting unit

Fiber mounting
bracket

Arm joint unit

Base unit
(Horizontal mounting type)

Base unit
(Vertical mounting type)

Cable guide

Arm (Pipe)

MS-AJS

MS-AJR

MS-AJ-R1

MS-AJD

MS-FD-1

MS-AJL

MS-AJ1B

MS-AJ2B

MS-AJG

MS-AJP

MS-AJ1-F

MS-AJ2-F

MS-AJ1 MS-AJ2

MS-AJ1-A MS-AJ2-A

MS-AJ1-M MS-AJ2-M

MS-AJ1-F MS-AJ2-F

MS-AJ-R1
Reflector 
mounting bracket( )



M
u

lt
i-

vo
lt

ag
e

M
ic

ro
E

Q
-5

00
PH

OT
OE

LE
CT

RI
C 

SE
NS

OR
S

A
m

p
lif

ie
r 

B
u

ilt
-i

n
C

Y
R

T-
61

0
M

S
-A

J
P

M
Se

ns
or 

Mo
un

tin
g S

tan
d

P
M

2
N

X
5

V
F

P
X

-2

MS-AJ

334

PRECAUTIONS FOR PROPER USE

Mounting
• To mount the universal sensor mounting stand on your

equipment, use M6 screws. The tightening torque should be
2.0 N�m or less.

Threading cable into pipe
• When the sensor is mounted on MS-AJ� (basic
assembly) or on MS-AJ�-A (lateral arm assembly), the
sensor cable can be threaded through the pipe.  However,
do not thread the fiber cable through the pipe when a fiber
head is mounted on MS-AJ�-F (assembly for fiber).

Others
• Do not apply excessive force on any part of the universal
sensor mounting stand.

• When using this stand, take care that excessive vibration
is not applied to the sensor.

Conveyor
line

Conveyor
line

M6 screws

M6 screws

MS-AJ2B

MS-AJ1B

Mounting on horizontal plane Mounting on vertical plane

Adjustment
• Arm, attachment, base and arm joint can be adjusted as
shown by the arrows in the figure below by loosening the
M4 hexagon-socket-head bolts.

M4 hexagon-socket-head bolts

M4 hexagon-socket-head bolts

DIMENSIONS (Unit: mm in)

20
0.787

1 0.039

20
0.787

1
0.039

20
0.787

25
0.984

33
1.299

17.8 0.701
12
0.472

11.8
0.465

(44.5)
(1.752)

(218)
(8.583)

(147)
(5.787)

28
1.102

45�

45�

t 2
t 0.0796 0.236

20 0.787

Attachment
(Nylon 6) M4 hexagon-

socket-head
bolt

2-"3.2 "0.126
mounting holes

2-3.2 0.126�4.2 0.165
oblong holes

"10 "0.394 pipe
[Stainless steel (SUS304)]

Sensor mounting bracket
[Stainless steel (SUS304)]

Cable guide
(POM)

4.2 0.165

3.23.2
0.1260.126
3.2
0.126

(Note)

4
0.157

25.5
1.004

10
0.394

2-"6.6 "0.260 mounting holes

45
1.772

32
1.260

Base
(PA)

8
0.315

18
0.709

20
0.787

28
1.102

Note: The dimensions in the brackets indicate the adjustable range of the
movable part.

Two M3 (length 14 mm 0.551 in) screws with
washers, two M3 (length 16 mm 0.630 in) screws
with washers, two M3 (length 18 mm 0.709 in)
screws with washers, one auxiliary mounting plate
for EQ-20 series and one auxiliary mounting plate
for EX-40 series are attached.

32
1.260

24.5
0.965

31
1.220

15
0.591

8
0.315

46
1.811

 10
0.394

Base
(PA)

20
0.787

20
0.787

1 0.039

20
0.787

1
0.039

17.8 0.701
12
0.472

11.8
0.465

(36.5)
(1.437)

(210)
(8.268)

20
0.787

(147)
(5.787)

28
1.102

45�

45�

t 2
t 0.0796 0.236

20 0.787

Attachment
(Nylon 6) M4 hexagon-

socket-head
bolt

2-"3.2 "0.126
mounting holes

2-3.2 0.126�4.2 0.165
oblong holes

"10 "0.394 pipe
[Stainless steel (SUS304)]

2-"6.6 "0.260
mounting holes

Sensor mounting bracket
[Stainless steel (SUS304)]

Cable guide
(POM)

4.2 0.165

3.23.2
0.1260.126
3.2
0.126

(Note)

20
0.787

25
0.984

33
1.299

4
0.157

Note: The dimensions in the brackets indicate the adjustable range of the
movable part.

Two M3 (length 14 mm 0.551 in) screws with
washers, two M3 (length 16 mm 0.630 in) screws
with washers, two M3 (length 18 mm 0.709 in)
screws with washers, one auxiliary mounting plate
for EQ-20 series and one auxiliary mounting plate
for EX-40 series are attached.

MS-AJ1 Basic assembly MS-AJ2 Basic assembly

• After the adjustment, the tightening torque of the M4
hexagon-socket-head bolts should be 1.2 N�m or less.



M
u

lt
i-

vo
lt

ag
e

M
ic

ro
E

Q
-5

00
PH

OT
OE

LE
CT

RI
C 

SE
NS

OR
S

A
m

p
lif

ie
r 

B
u

ilt
-i

n
C

Y
R

T-
61

0
M

S
-A

J
P

M
Se

ns
or 

Mo
un

tin
g S

tan
d

P
M

2
N

X
5

V
F

P
X

-2

MS-AJ

335

DIMENSIONS (Unit: mm in)

Assembly dimensions with CX-400 series, CX-20 series,
CX-30 series, EZ-10 series
(Mounting part only)

20
0.787

11.8
0.465

33
1.299

20
0.787

28
1.102

27
1.063

18 0.709

45�

45�

t 2 t 0.079
6

0.236

Center of sensing

2-M3 (length
14 mm 0.551 in)
screws with
washers

4.2
0.165

25
0.984

24 0.945
CX-400:
23.2 0.913

CX-400:
17.6 0.693

CX-400: 25.4 1.000

Assembly dimensions with EX-40 series
(Mounting part only)

Assembly dimensions with EQ-20 series
(Mounting part only)

Assembly dimensions with RF-210 (Reflector)
(Mounting part only)

33
1.299

19
0.748

17
0.669

24.4
0.961

45�

45�3
0.118

Center of
sensing

Auxiliary mounting
plate for EX-40 series

2-M3 (length
16 mm 0.630 in)
screws with
washers

t 2
t 0.079

4.2
0.165

20
0.787

28
1.102

27
1.063

20
0.787

11.8
0.465

6
0.236

15.5
0.610

20
0.787

28
1.102
26.5
1.043

18
0.709

26.4
1.039

45�

45�

t 2 t 0.079

5
0.197

Center of
sensing

Auxiliary mounting
plate for EQ-20 series

2-M3 (length
18 mm 0.709 in)
screws with
washers

4.2
0.165

33
1.299

25
0.984

20
0.787

11.8
0.465

6
0.236

18.4
0.724

24.8
0.976

45�

45�

t 2
t 0.079

25
0.984

33.3
1.311

31.8
1.252

20
0.787

2-M3 (length 
14 mm 0.551 in)
screws with
washers

4.2
0.165

33
1.299

20
0.787

11.8
0.465

6
0.236

MS-AJ1
MS-AJ2 Basic assembly MS-AJ1-M Assembly for reflector

22
0.866

2-M4

25
0.984

40
1.575

11.8
0.465 17

0.669

(208)
(8.189)

(147)
(5.787)

50
1.969

45�

45�

20
0.787

M4 hexagon-
socket-head bolt

Attachment
(Nylon 6)

"10 "0.394 pipe
[Stainless steel (SUS304)]

2-M3

4.2
0.165

(Note)

(44.5)
(1.752)

t 2 t 0.079

28
1.102

25.5
1.004

10
0.394

2-"6.6 "0.260 mounting holes

32
1.260

Base
(PA)

28
1.102

8
0.315

18
0.709

45
1.772

20
0.787

Note: The dimensions in the brackets indicate the adjustable range of the
movable part.

Two M3 (length 8 mm
0.315 in) screws with
washers and two M4
(length 8 mm 0.315 in)
screws with washers are
attached.

MS-AJ2-M Assembly for reflector

32
1.260

24.5
0.965

31
1.220

15
0.591

8
0.315

46
1.811

Base
(PA)

10
0.394

20
0.787

2-"6.6 "0.260
mounting holes

20
0.787

22
0.866

2-M4

25
0.984

40
1.575

11.8
0.465 17

0.669

(200)
(7.874)

(143.5)
(5.650)

50
1.969

28
1.102

45�

45�

20
0.787

M4 hexagon-
socket-head bolt

Attachment
(Nylon 6)

"10 "0.394 pipe
[Stainless steel (SUS304)]

2-M3

4.2
0.165

(Note)

t 2 t 0.079

(40)
(1.575)

Note: The dimensions in the brackets indicate the adjustable range of the
movable part.

Two M3 (length 8 mm
0.315 in) screws with
washers and two M4
(length 8 mm 0.315 in)
screws with washers are
attached.



M
u

lt
i-

vo
lt

ag
e

M
ic

ro
E

Q
-5

00
PH

OT
OE

LE
CT

RI
C 

SE
NS

OR
S

A
m

p
lif

ie
r 

B
u

ilt
-i

n
C

Y
R

T-
61

0
M

S
-A

J
P

M
Se

ns
or 

Mo
un

tin
g S

tan
d

P
M

2
N

X
5

V
F

P
X

-2

MS-AJ

336

DIMENSIONS (Unit: mm in)

MS-AJ1-A Lateral arm assembly

28.45
1.120

12
0.472

16.5
0.650

(147)
(5.787)
(Note 1)

(44.5)
(1.752)

(203.5)
(8.012)

(134)(5.276)(Note 1)
(33)

(1.299)

210
8.268

(16.5)
(0.650)

33
1.299

6 0.236

(218)
(8.583)

2-"3.2 "0.126
mounting holes

Arm joint
(Nylon 6)

"10 "0.394 pipe
[Stainless steel (SUS304)]

"10 "0.394 pipe
[Stainless steel (SUS304)]

2-3.2 0.126�4.2 0.165 
oblong holes

Cable guide
(POM)

Sensor mounting bracket
[Stainless steel (SUS304)] 
(Note 2)

4.2
0.165

25.5
1.004

10
0.394

2-"6.6 "0.260 mounting holes

45
1.772

32
1.260

Base
(PA)

8
0.315

18
0.709

20
0.787

28
1.102

Two M3 (length 14 mm 0.551 in) screws with
washers, two M3 (length 16 mm 0.630 in) screws
with washers, two M3 (length 18 mm 0.709 in)
screws with washers, one auxiliary mounting plate
for EQ-20 series and one auxiliary mounting plate
for EX-40 series are attached.

Notes: 1) The dimensions in the brackets indicate the adjustable range of the movable part.
Notes: 2) Refer to MS-AJ1/AJ2 (basic assembly) for the assembly diagram with the sensor mounting bracket, sensor or reflector.

Assembly dimensions with RF-220 (Reflector)
(Mounting part only)

Assembly dimensions with RF-230 (Reflector)
(Mounting part only)

35.3
1.390

28
1.102

45.3
1.783

t 2
t 0.079

28
1.102

45�

45�

36.3
1.429

38
1.496

55.3
2.177

50
1.969

20
0.787

2-M3 (length
8 mm 0.315 in)
screws with
washers

M4 hexagon-socket-
head bolt20

0.787

11.8
0.465

12
0.472

4.2
0.165

45�

45�

61.3
2.413

37
1.457

47
1.850

11.8
0.465

71.3
2.807

50.3
1.980

2-M4 (length
8 mm 0.315 in)
screws with
washers

M4 hexagon-socket-
head bolt

4.2
0.165

20
0.787

28
1.102

36.3
1.429

20
0.787

t 2
t 0.079

MS-AJ2-A Lateral arm assembly

28.45
1.120

12
0.472

16.5
0.650

(147)
(5.787)
(Note 1)

(36.5)
(1.437)

(208.5)
(8.209)

(134)(5.276)(Note 1)
(33)

(1.299)

210
8.268

(16.5)
(0.650)

33
1.299

6 0.236

(210)
(8.268)

20
0.787

2-"3.2 "0.126
mounting holes

Arm joint
(Nylon 6)

"10 "0.394 pipe
[Stainless steel (SUS304)]

"10 "0.394 pipe
[Stainless steel (SUS304)]

2-3.2 0.126�4.2 0.165 
oblong holes

Cable guide
(POM)

Sensor mounting bracket
[Stainless steel (SUS304)] 
(Note 2)

4.2
0.165

24.5
0.965

32
1.260

46
1.811

Base
(PA)

31
1.220

15
0.591

8
0.315

10
0.394

20
0.787

2-"6.6 "0.260
mounting holes Two M3 (length 14 mm 0.551 in) screws with

washers, two M3 (length 16 mm 0.630 in) screws
with washers, two M3 (length 18 mm 0.709 in)
screws with washers, one auxiliary mounting plate
for EQ-20 series and one auxiliary mounting plate
for EX-40 series are attached.

Notes: 1) The dimensions in the brackets indicate the adjustable range of the movable part.
Notes: 2) Refer to MS-AJ1/AJ2 (basic assembly) for the assembly diagram with the sensor mounting bracket, sensor or reflector.

MS-AJ1-M
MS-AJ2-M Assembly for reflector



M
u

lt
i-

vo
lt

ag
e

M
ic

ro
E

Q
-5

00
PH

OT
OE

LE
CT

RI
C 

SE
NS

OR
S

A
m

p
lif

ie
r 

B
u

ilt
-i

n
C

Y
R

T-
61

0
M

S
-A

J
P

M
Se

ns
or 

Mo
un

tin
g S

tan
d

P
M

2
N

X
5

V
F

P
X

-2

MS-AJ

337

DIMENSIONS (Unit: mm in)

MS-AJ1-F Assembly for fiber

28.45
1.120

12
0.472

16.5
0.650

(147)
(5.787)
(Note1)

(44.5)
(1.752)

(203.5)
(8.012)

(134)(5.276)(Note1) (33)
(1.299)

210
8.268

(16.5)
(0.650)

33
1.299

6 0.236

(218)
(8.583)

Arm joint
(Nylon 6)

"10 "0.394 pipe
[Stainless steel (SUS304)]

"10 "0.394 pipe
[Stainless steel (SUS304)]

4-M3�0.5 0.020
mounting holes

Fiber mounting bracket
[Stainless steel (SUS304)]

Cable guide
(POM)

25.5
1.004

10
0.394

2-"6.6 "0.260 mounting holes

45
1.772

32
1.260

Base (Note 2)
(PA)

8
0.315

20
0.787

28
1.102

18
0.709

25.5
1.004

Fiber mounting bracket / MS-FD-1

7
0.276

6 0.236
9 0.354

13.5
0.531

18.5
0.728

22
0.866

13
0.512

t 2
t 0.079

8
0.315

8
0.315

3.2 0.126

8
0.315

5.5
0.217

4
0.157

4
0.157

3.2 0.126 13
0.51235

1.378
55

2.165

13
0.512

22
0.866

R14 R0.551

40�

"4 "0.157
mounting hole

4-M3�0.5 0.0202-M3�0.5 0.02

M3 threaded head fiber mounting hole

M4 threaded head fiber mounting hole
M6 threaded head fiber mounting hole

4.2
0.165

Notes: 1) The dimensions in the brackets indicate the adjustable range of the
movable part.

Notes: 2) Refer to MS-AJ� (basic assembly) for the assembly diagram with
the base.

Assembly dimensions with FD-L51
(Mounting part only)

4
0.157

1.5
0.059
4.5 0.177

21
0.827

8
0.315

22
0.866

41.5
1.634

55
2.165

6.5
0.256

41.5
1.634

22
0.866

33
1.29920

0.787
t 2
t 0.079

25
0.984

31
1.220

16
0.630

Material: Stainless steel (SUS304)

Assembly dimensions with FD-FM2
(Mounting part only)

22
0.866

33
1.299

20
0.787

t 2
t 0.079

23.5
0.925

"3.5
"0.138

15
0.591

5
0.197

35
1.378

(10)
(0.394)

(28.5)
(1.122)

(45)
(1.772)

55
2.165

M6�0.75 0.030

Opposing faces10 0.394,
thickness 2 0.079

Toothed lock washer "11 "0.433

22
0.866

Note: The above diagram is in case of M6 threaded head fiber.

MS-AJ2-F Assembly for fiber

28.45
1.120

12
0.472

16.5
0.650

(147)
(5.787)
(Note1)

(36.5)
(1.437)

(208.5)
(8.209)

(134)(5.276)(Note1) (33)
(1.299)

210
8.268

(16.5)
(0.650)

33
1.299

6 0.236

(210)
(8.268)

Arm joint
(Nylon 6)

"10 "0.394 pipe
[Stainless steel (SUS304)]

"10 "0.394 pipe
[Stainless steel (SUS304)]

4-M3�0.5 0.020
mounting holes

Fiber mounting bracket
[Stainless steel (SUS304)]

Cable guide
(POM)

20
0.787

24.5
0.965

32
1.260

46
1.811

Base (Note 2)
(PA)

31
1.220

15
0.591

8
0.315

20
0.787

2-"6.6 "0.260
mounting holes

10
0.394

Notes: 1) The dimensions in the brackets indicate the adjustable range of the
movable part.

Notes: 2) Refer to MS-AJ� (basic assembly) for the assembly diagram with
the base.

MS-AJ1-F
MS-AJ2-F Assembly for fiber


	MS-AJ SERIES
	Features
	Structure
	Order Guide
	Precautions for Proper Use
	Dimensions




